
Answers

1)	

2)	 a)

b)	

c)	

3)	 a)	 0.6m
b) The frame is 0.6m long because the start of the frame is on 0.1m and the end of the frame is on 0.7m. 0.7m - 

0.1m = 0.6m.
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Answers

1)	 a) Khalid has carried on counting the tenths past nine tenths. He should have regrouped ten   
  tenths into one whole. The counting sequence should have been … 2.9, 3, 3.1.
b)	

2)	 a) No, Sophie is incorrect.
b)	

   
  Sophie is incorrect. If you count in jumps of 3 tenths, starting at 3, you do not say 4.1. You will say 3.9  
  and 4.2 which are either side of 4.1.

3)	

2.1 2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 3 3.1

3 3.3 2.6 3.9 4.2

3.1 C

2.4 B

2.7 None

1.9 A

2.1 A

2.6 B

1)	 Accept near answers: 

a)	

 

b)	

 

c)	

2)	 a)

 

b)	 Children's answers will vary.
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